Math 244 Extra Practice: Conversions

We stopped our consideration of second order DEs- We'll re-visit it later, but we want to
pause for a moment to show that all n*® order differential equations can be converted to a
system of first order DEs. We can also go backwards for some systems- Converting a system
to an n'® order DE.

We'll show you how to do the conversions via some examples.

1. Convert 3y = ty’ + 3y into a system of first order.

SOLUTION: We introduce new variables- Let x; = y and x5 = /. We write a system
using 1 and xp (note that z, xo are functions of t)

y = T2 x’l = T9
=
vy =y" =ty + 3y =3z, + txy xh = 3wy + txs

(Notice that the answer should be all in terms of the new variables)

2. Convert 2y” + 4y’ + 3y = 0 into a system of first order DEs:

SOLUTION: We introduce new variables- Let x1 = y and x5 = y'. We write a system
using x; and x5 (note that xq, x5 are functions of t)

= X9 :(,‘/1 = T2

/ 3 / 3
=5y —2y = —5x1 — 219 Ty = —5r1 — 2%

3. Convert y"” = 3y" — 2y + y + t? into a system of first order DEs.

SOLUTION: We'll need three variables now: Let x1 = y, 2o = %/ and x3 = y”. Then
forming the system of differential equations proceeds much as before:

Ty =y =1 = 1) =us
=y =3y" =2 +y+ 1= 3wy — 20y o+ Ty = 3wy — 205 + 1y + 12

4. Convert y™ =y + 9/ + 1" + 4" to a system of first order DEs.
SOLUTION: We need 4 variables: x1, x2, 3, 24, and we end up with:

Ty =@
Th = x3
xh =1y
.Z'il =1+ 2o+ T3+ X4



Going Backwards: A system to second order

Given a linear system with constant coefficients, convert to an equivalent second order linear
homogeneous DE.

The idea will be that the first equation will be used to substitute into the second so that
we end up with an equation all in x5 (or equivalently, all in z1).

) = axy+ bry
xh = cxy+ drg

’ a

b

To =

1
b

Now use the second equation and subsititute:

1
xy=cry+dry = (g

a 1 a
¥y — —x) =cr + (gx'l — —11)

b b
Notice that this is all in terms of x;. Here are a couple of numerical examples:

=31 + T2

/
1. Convert to an equivalent 2d order DE: !
Ty = —T1+ 27

SOLUTION: Using the first equation, we have zo = x| — 3z;. Substitute into the
second to get:

(l'/l - 3371)’ = —x1 + 2(1'/1 — 31’1) = ;L'lll — 3:13'1 = -z + 21,/1 . 6?[71
Simplifying, we get
x — 5zl + Try =0

And this is our second order DE. As a “side remark”, if I had used the second equation
to substitute into the first equation, I would have ended up with the same second order
DE (in z5 instead of ).

/ 1
T, =21+ 52
/

2. Convert to an equivalent 2d order DE:
Ty = 2T — 3T

SOLUTION: Using the first equation, we have x5 = 2z} — 2x;. Substitute into the
second to get:

(22 — 221) = 22y — 3(22) — 221) = 2xf — 22| = 221 — 62 + 624

Simplifying, we get
22 +42] —8x1 =0
And this is our second order DE.



Exercises

1. Convert the following n'® order DEs to systems of first order.

(a) y”+3y +2y=0
(b) ¥ =2y —3y
() 2¢"+6y+y=0
(d) y” +5y=0
(e) —y— 3y + ty” + y/// . Sy(iv)
2. Convert the following systems of first order to an equivalent second order DE, if pos-
sible.
) =x + 219
(a) xh =2x + 19
) = —2x + 29
(b) xTh =1+ T
T, =1
(c) xh =31



